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Instructions :

All questions are compulsory.

(1)
(ii) Question Nos. 1 10 5 arc objective type questions.
(iii) Intemal options 8¢ given in Question Numbers 6 1o 26.

(iv) Draw neal and clean labelled diagram wherever required.
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wf e gamr fafag 1x5=5
(i) 12, 15 afT 21 &1 HCF 2

(a) 420 (w210

icy 3 o9

(i) fomma @gmz a’ +hvec B gEE 3 DO W@ gnh
{a) 4 (hy 3

(c) 1 (d)

(ili) apx+by+c =0 AT ayx+byy+cy =0 & P Tws & sfredz w0 &

ufdy ¥ -
o h‘ (& ) hl
. — T — I — m—— e —
(a) as b} %] (b) oy 1"1':
a _h _a @ b
—_—— —_—=—
(<) ay by € (d) .

(iv) frara qFEEH T ax2+bx+c'=0 % 2 &lﬁ Wﬁ!ﬁ El fl'(:' i 4 gfy

(@) % -4ac<0 & 52 e =
© b2 -4dac>0 dy » +4g¢>0
(v) AP 3,69 oo ““"""“'W:n:
(a) B3 (b) Mgy
(c) et @A)
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Choose the correct option and write it :
(i) © HCF of 12, 15 andﬁ2‘] is - |
(@) 420 | (b) 210

) 3 . @ 9

(1) Maximum number of zeros in quadratic polynomial a?+bx+e will be -
(@) 4- D (by 3

© 1 @ 2

(iii) The condition for the lines whose equations are -gx+&y+¢ =0 and

-

ax+byy+cy; =0 are intersecting :

a b _a aLh
@) a b o ®) ay * by
a_h_a oy Al
(c) :2-— b2 * (o) (d) (7] -bz

(iv) Roots of given quedratic equation ax?+bx+c =0 are real and distinct, if

(@) b2 -4ac<0 | ®) b2-4ac=0
» :
(c) b2 —4ac>0 @@ 52+4ac>0
(v) Which term of 81 AP 13,6, 9, . . 18277
(@) Sixth - (b) Eighth
(¢c) Fifth (d)y Ninth
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Fill in the blanks : hf‘lpi""'WWW.|11pbuurdunIinc.com

(i) Sum of zeros of polynomial x +4x+815 —_—

(i)

solutions of the equation of coincident lines.

(iii) All equilateral triangles are

(iv) The length of tangents drawn from an ex@naj point to a circle aré e e

(v) The area of sector

whose m@s ‘¢ and angle in degree is 6.
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" 1x8=5
) AP:2, 2.3, -
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Write the answer in one word/sgngence of each :

(i) Find the common dlff‘eren@ In the given AP : 2, j ) 3, l .............. .
o )
@ity If shadow and helght pf the polc are equal, then what jg the angle of
the elevation of sun ? TO . . . '

(iti) Write the formula of volume of a frustum of a cone,

(iv) What is called the term Which has maximum frequency ?

"
(V) Write the relation betweenthe three measures of central tendency,.

Frafafles & ww/ema Rty - 1x5=5

() feam sdew _ix2—4;+.3=0 ® WA D PRy R |

(ii) anﬂwﬁgwméam—or:%xmrxahéaws’mtl

Write true/false in the folEowinm

(i) The nature of roots of the quagraric equation 2x2-4x+3=0 is real.

K

e
bagse x altitude.

Gy Area of right wiangle --‘-Q

Vo)
(iii) The tangent to 8 °'"’l° ISQ)rpendlcular to the radius Ihmuah the point
of contact. =

o _
(v) If the radius of 8 ¢ircle jg em, then the area is 36 ® cm?.

(V) The probability of cenain tvent is zero.

00 1 ps opgy | s WSEEEEMENELY | PTo.



3 Hﬁwﬁaﬁ@, !

1x8=$
wY A w9 B
(i) sec?g- (@) 3 _
(i)  sin(50-9) (b) tan’8
(i) sin?63°+cos?630 ) 0
(iv) cos90° @ sin@ -
() . tan 60° @1 |
(f) cos® _. _
. Match the correct column.
~ Column A v .. - C_olumn B
(i) sec?9-1 - (@ 5
(i) sin(90-6) = (b) tan’@
i) sinZ 63° 2613" .(©® 0
(iii) sin” 63°+cos N
(iv) cos90° - © (d) sin@
(V) . tan60° € 1
(f) cosB
404 B H.CF. Wi #ifed 1 2
6 oy oras R E 96 it - '

Find the H.C.F. of 96 .and 404 by the prime factorization method.
in .C.E.

MW "~ s | OR

-

qfes P wAfdE & wae fifed |

Write the statement of Euclid Division Lemma,
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Find the zeros of the quadmtic'poiynomial xz-Sx-l-G_

-

7 . ¥uar /| OR

L4

MW2x2-8x+7$sﬁﬁmm'ammﬁml

Fi pro¢ i
ind the sum gnd prgduct qf zeros of quadratic polynomig 2x2 -8x 47,

8 Tgslt (5, 8) ok (3, 6) 7 wem fig T AR | . 2

Find the midpoint of the points (5, 8) and (3, 6).
gt [ OR

wﬁaﬁmmmﬁmmﬁaﬁé(z,s),(—l,mm@mt '

Find the area of a triangle whose vertices are (2, 3), (-1, 0) and (2, —4).

9 @R P(E)=0-892 ¥, T “E T & wimar w7 ¥ ? C T 2
If P(E)=0-892, what is the probability of “Not E”7

svar | OR
.
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There are 5 black and 3 red balls in a bag. One ball is chosen randomly,

find the probability that the ball will be red. !
: ! ' P.T.O.
[100]/ Ps-9007 ] 7 M T LA




12

UE TR % vs a3y Ew oo £ R
om #fm

ﬂ,ﬂ-:ﬂwmﬁvtﬁm

' | _ ¢ getting 3 pnme number
In a throw of a dice. find the probah '

wam OR
P P el w33 T g A B ofemar
042 % | WAz B B A B wimww w0
Iwo players Atul and Javed plas a cricket match The prodabiliny of Atul winnigg

the match i< 0.47 What is the probabliin of Javed winning the match 7

a4 f“"‘ m’fﬁa it M oivh YT & Con TR L

3
P valuate sin 7 cou B 4 Cos 307 sin 6l
M OR

n 63
— w1 ura Prdeg
Civ £

tan 658°
Evaluate cot 25°
Lot ) ¥ um O wwu wa e 7 feg o)), Regalt 3.6 A (3 g 3

A g ® o

Find a relation between v and v such that the point (x, y) is equidistant from the.
points (3. 6) and (-3. 4 -

o)

sen | OR -

KW o wm @R ok figal 4(7. -2). BS. 1) 3w 3. K) & ¥ ;
Find the value of K. if the points 4(7. -2). B(5. 1) and (3, K) are collinca?
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The length of a tangent from a point P at Glistance 5 ¢m from the centre of the
circle is 4 cm. Find the radius of the cnrcc'fg

s | 6R

frg PR f5 ww fig & g9 T @A T W Y@l R ot ww
L1048 AN Ty N
Prove that the length of tangents drawn fmm% external point to a circle are equal.

- ™
14 B T N Read wwa: 19 A AR 9 XY | W gw A Bow wa AR
Rret R 31 @ gt @ o B PP B awa ¥

The radii of two circles are 19 cm and 9 cm respectively. Find the radius of the

circle which has circumference equal to the sum of the circumferences of the two
* circles.

mf?rl)t
4 h P A TF q0 S Breavs w gdew o AR R B 300§ 4
(n=3.14 ) ' 0

< -
Find the area of the sector of a ¢ircle wigryradius 4 cm and angle is 30°.
(Taking m=3.14) o

15 mm%h;ﬁwmmt:-_,

-, oan
Prove that 3+2+/5 I8 80 imationa) numbeeh

00
. Y@ | OR
<

HCF (306, 657 =%Rm % | Lo (%3, 657) WA BN |
Given that HC.P. (306. 657) « g £r4 1.C.M. (306, 657).
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16 337452 +2x+5ﬁ1+2x+x?ﬁmmmmﬁmmﬁmﬁ 4
“ﬂmﬁﬁlﬁl .

Divide 3x7 4 x2 +2x+5 by 1+2x+x? and verify 'Lh‘ division Algorithm,
waa /| OR -
3x‘+6x3—2x2—10x-5 % o T gw T BRR, up wWE A
5 5
Eo v
Find all other zeros of 3% +6x3 2x%-10x-5, if two of it zeros are

feb

17 ﬁ?ﬁwﬁﬁwmmﬁw%ﬁaﬁmﬂaﬂwwﬁmw 4
xX+y=35
2x—3y=4

Use elimination method to ﬁnd all possible solunons of the following pair of
linear equation : :

L

»

x+y=15 |

2x—3y=4

@ /| OR

k% fow W % ford, B Wod ool S qgm o g ww W ¥ 7

3x+y=1 . "

(2k—1)x+(k=1)y=2k+1

For which value of £ will the following pair of linegy equations have no solution ?
u. 3x+y=l ° W -

L @k-Dxe(k-ly=2k+1 ~
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The first term of an A.P. is §, the last term is 45 and the sum iy 400. Find the

number of terms and the ¢ommon difference.
: ¥
. svyar / OR
w AP ¥ 50 7z ¥, Rremr daw @ 12 ¥ T oiftet w106 % 1 e 294
9% I B '
An A.P. consists of 50 terms of which 3" term is 12 and the last term is 106.
Find the 29t term. ' 'Y

el L,
3
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A tower stands vertically on the ground. ¥From a pomt on the ground, which is
15 m away from the foot of the tower, the angle of elevation of the top of the

tower is found to be 60°. Find the height of the tower.

H!IEIT'!'-OR
lsﬁmwimwﬁﬁézssﬁﬁ{&ﬂt | Tet ol A R
twmmmmM“thﬁmml |

An observer 1.5 m tall is 285 m away from & chimney. The angle of

elevation of the top of the chimney from her eyes is 45°. What is the height of

the chimney 7
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State Thales theorem and prove it.

suE4 OR
10 % e T Tm far W PEP T g ¥ 8 B @ S w Rua
fosd o® wfad ¥ | dan % omum @ A B PR AR B g0 T AR

A ladder 10 m long reaches a window# m above the ground. Find the distance
of the foot of the ladder from base o?Ehe wall. |

4

R arplt ¥ eraifee wm w1 dawa WP R, TR 4ABCD g 14 ¥ @1 gF 4
ot ¥ @ APD ot BPC @ adfgw ¥ | | '

" Find the area of the shaded region in figure, if ABCD is a square of side 14 ¢cm and
. APD and BPC are semicircles. .-

A

74

14 ¢m

- 9qm+, OR

u,
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Find the arca of the shadeg region mq!"’e“ Bigure, where 48CD g 5 square of
side 28 cm.

. -t | ) —_— . I ) s
SO 6x2-€22-0 ¥ [ wa s
y s &y 8 e e o
izati thod.
Find the roots of the quadratic equation §x2.—35—2=0 by factorization me
. 4y ! OR

¥Q WWWﬁw,ﬁﬁgﬁﬁ;ﬂhwoﬁl
4| wHara . .

" is 2 0.

.
H
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I+sin 4
l-sinA

=secA+tan A

Prove the following identity :

1+sin 4

l—sin 4 =secA+tan A ]
ayar /| OR
& wwhm Aiyw 4BC 3, mmaﬂwawmt af tan 4=1 s’ra‘rmrﬁta
B fF 2sind-cos 4 =1 e s

In a right triangle ABC, right angled at B, if tan A= I then verify that

2sinA-cosA=1.
;‘«‘]:‘

43, 5 e 6 N el T T B A T AT o BT s T
%mﬁwﬂmﬁh&,-mmﬁ&@ﬁgﬁaﬁmwﬁaﬁ%
ﬁﬂlm%ﬁﬁﬁf@'&l | . T
Construct a triangle of sides 4 em, S cm and 6 cm and then a triangle similar to
it whose sides are 24 of the corresponding sides of the first triangle. Also write

the steps of construction.

s4% | OR
41}@&”%%'@“5'%&@%@%%%%@&3&@
mm@rmaﬁmmmmmu

Construct & tangent to a clrcle of radius 4 ¢cm fmm a pomt on the concentric circle
of radius 6 cm and measure its length.
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2 cubes each of volume 64 cm? are joined end to end. Fing the surface f
area o

the resulting cuboid.

R &

e e L
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A cone of height 24 cm and radius of base 6 cm is made up of modelling clay.

e

*

qYqr

g

/ OR

A child reshapes it in the form of a sphere. Find the radius of the sphere.

Pt o 2

26 P dor @ A b & dw dwad o wiw b |
LT 18 % | g AT I i |

s dawar (T ®)

11-13

13-15

15-17 | 17-19

19-21

21-23

23-25

el B W

9 13

f

' “The following distribution shows the daily pocket allowance of children of a

locality. The mean pocket allowance is ¥ 18. Find the missing frequency f.

/ PS-9007 |
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Daily pocket
allowance (in ) 11-13 | 13-15| 15-17 [ 17-19 | 19-21 [ 21-23 | 23.25
.. i 5 4
Number of children 7 6 9 13 f
s /| OR
- 15 | DL A e T € B-T-O
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e = ¥ wfl g AP B g W
Prafoftrs wroh fodt st % T8 8¢ .

hh § .

e 1 0328 | 25-35 | 35-45 | 4558 | 5565
g (adt ¥) 515 | &
Ol o den 6 01: I 21 23 14 s

mwtmwmwl

The foliowing table shows the agDof the patients admitted in a hospital
lan'

during a year :

. vl
Age (in years) 3-15 ) 35-25 | 25-35 | 35-45 | 45-55 | 55-65
Number of patients 6 11 21 23 14 5

Fmdthemodeofthegivendm

[100 ] / PS-9007 |

-

16

EREEIe I NENREy




